
Assignment 4.3 

Instructions:  

Rearrange the following equations to solve for y and then complete the table of values  

1) -5x +2y = 6   Test Point 1    Test Point 2  Table of Values  

 

 

 

 

 

 

2) 3x -6y -18 = 0   Test Point 1    Test Point 2  Table of Values  

 

 

 

 

 

 

3) x + 3y = -15   Test Point 1    Test Point 2  Table of Values  

 

 

 

 

 

4) ଶ

ହ 
x + 2y = 4   Test Point 1    Test Point 2  Table of Values  
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5) ଵ

ଷ
y + 7x = -1   Test Point 1    Test Point 2  Table of Values  

 

 

 

 

 

 

 

 

6) ଵ

ଶ
y - ଶ

ଷ
x = -2   Test Point 1    Test Point 2  Table of Values  

 

 

 

 

 

 

 

7) ଷ

ସ
x +  ହ

଺
y  = 5   Test Point 1    Test Point 2  Table of Values  

 

 

 

 

 

 

8) ଵ

ହ
x -  ଵ

ଷ
y  = -3   Test Point 1    Test Point 2  Table of Values  

 

 

 

 

 

X Y 

  

  

  

X Y 

  

  

  

X Y 

  

  

  

X Y 

  

  

  


